
Fitting this Pyramid shock shield is quick and simple. Remove the bolt hole caps fitted on the bike.

Attach the rubber flap to the bracket using the M5 fittings supplied (see illustration).

Attach the bracket to the bike using the M8 bolts + spacers supplied (see illustration).

Check fixings periodically.

Kit Includes:
1X
1X
2X
2X
2X
2X2X
4X

C24444
CFK811020
CBOLM50002
CNUTM50002
CWASM50001
CBOLM80011
CSPAM80002CSPAM80002

Rubber Flap
Bracket
M5 X 10mm Stainless Button-head Bolt
M5 Stainless Nyloc Nut
M5 Stainless Washer
M8 X 30mm Stainless Button-head Bolt
SpacerSpacer

811020 Honda MSX 125 (Grom) Shock Shield Fitting Instructions

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Follow us on social media and 
feel free to leave us a review!

CBOLM50002
CWASM5000

1

CNUTM50
002

CSPAM80
002

CBOLM80
011

CBOLM80
011

Fitting this Pyramid shock shield is quick and simple. Remove the bolt hole caps fitted on the bike.

Attach the rubber flap to the bracket using the M5 fittings supplied (see illustration).

Attach the bracket to the bike using the M8 bolts + spacers supplied (see illustration).

Check fixings periodically.

Kit Includes:
1X
1X
2X
2X
2X
2X2X
4X

C24444
CFK811020
CBOLM50002
CNUTM50002
CWASM50001
CBOLM80011
CSPAM80002CSPAM80002

Rubber Flap
Bracket
M5 X 10mm Stainless Button-head Bolt
M5 Stainless Nyloc Nut
M5 Stainless Washer
M8 X 30mm Stainless Button-head Bolt
SpacerSpacer

811020 Honda MSX 125 (Grom) Shock Shield Fitting Instructions

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Follow us on social media and 
feel free to leave us a review!

CBOLM50002
CWASM5000

1

CNUTM50
002

CSPAM80
002


